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_ T 5x1000_=5000
Prénom: _ d2ne 5l L1212
P 50 x 10 = 5 X 60 - 5x__10 =50
z E— S RS 56 x 10 = e
;zx,;:)g—- - o gy T 50x10=_____ S 20x_10 =200
e BULCIO0ISHS " 32 x 100 = 6 x 100 = 6x_6a0 =360
Ehal'O00= .5 L 23 x1000= 56 x 1000 = 18 x 1000 = 30x_10Q0 =3000
63(10:_____ 60!10:__ 64)(10:_______ 24 x10 = 14x 20 :280
30x30=___ 30 x 30 = 60x30= 56 x 30 = 10 =250
14 x 100 = 14 x 200 = 14 x 300 = gl oo 4 i 25x_10
25 x 1 000 = s i, . 27 oy e 9x_100 =900
X S e i A0 I000=. 2x1000= 100 x 1 000 = e 0
=L 0 1 o Eexins. | 9 x1000 = 96 x 10 = 32x_30 =9
32 x 100 = 301 x 100 = 32x1000= 2x100=
TOTAL: /10
TOTAL: /10 TOTAL: /10 | TOTAL: /10 TOTAL: /10
5 x 1000= 5 x =5 000 50 x =5 000 NZx. " oANOLO A
12x1000= ] =12 12 x =1 200 200 x =2 000
5x1000-= DX — o) 50 x =50 25 x =250
2 x £ 200 20 x =200 24 = 200 56 x = 560
6 x e 120 6 x = 360 6 x = 3600 12 x = 240
30x90-= 30 x = 3000 3x —ei(n,0,4] 8 x = 1600
T R 14 x =280 <—7Zx = 700 63x____ =6300
40 x 1000 = 25x____=250 25 x =2500 | 9%x ki C'est un peu plus dur
e ni0g=ET . 2x .= 23 x = 46 X
: /10
TOTAL: /10 TOTAL: /10 TOTAL /10 TOTAL




